Bridge Filter Buck Converter (F3)
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VL1=D(Vg- i1r1- i2r2-V2)+D`(Vg-i1r1-V1+i2r2)
0=Vg - i1r1- D`V1-DV2+i2r2 (1-2D)
VL2=D(Vg-i1r1-i2r2-V2)+D`(-V2-i2r2)
0 = DVg-V2 – i2r2-Di1r1
V2 = DVg – Di1r1 - i2r2
iC1 = D (i1 – i2) + D`i1  ,  i1 = Di2
iC2 = i2 - V2 = 0  ,  i2 = V2  ,    i1 = DV2
               R                 R              R
V2 = DVg – D2V2r1 – V2r2
                      R         R     
DVg = V2 (R + D2r1+r2) ( 1 )
                                     R
V2=Vg        DR___ , = ___R_____ ,    = __1_
           R+D2r1+r2            R+D2r1+r2                 1+D2r1+r2
                                                                    R     R
i2=  DVg_
     R+D2r1+r2

I1=  D2 Vg_
     R+D2r1+r2

V1=Vg   R(1-D2)-2D2r2+D`r2
      D`       R+ D2 r1+ r2
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IDEAL
V L1 = D (Vg-V2)+D` (Vg-V1)
0 = Vg – DV2 – D`V1
VL2 = D(Vg – V2) + D` (-V2)
0 = DVg – V2  
V2 = DVg
V1 = Vg (1-D2) = Vg (1+D)
                  D`
iC1  = D (i1 – i2) + D` (i1)
0 = i1 – Di2     ,    i1 = Di2 
iC2 = i2 - V2  = 0
               R
i2 = V2     ,    i1 = DV2
        R                   R
i2 = DVg   ,   i1 = D2 Vg
          R                    R

V2=Vg ___1___
          1+D2r1+r2
               R     R

